

## A NOTE ON GENERALIZED TRICOMI POLYNOMIALS

*Hukum Chand Agrawal*

(Received March 5, 1975)

### Abstract

In this note, we have established certain properties of the generalized Tricomi polynomials [3]

$$I_n^\alpha(x) = \sum_{r=0}^n (-)^r \binom{x-\alpha}{r} \frac{x^{n-r}}{(n-r)!},$$

with the help of the difference operators.

### 1. Introduction

We shall use the following formulae in our analysis,

$$(1.1) \quad \Delta_\alpha f(\alpha) = f(\alpha + 1) - f(\alpha),$$

$$(1.2) \quad E_\alpha f(\alpha) = f(\alpha + 1),$$

$$(1.3) \quad \Delta_\alpha^n [u_\alpha v_\alpha] = \sum_{r=0}^n \binom{n}{r} \Delta_\alpha^{n-r} u_{\alpha+r} \Delta_\alpha^r v_\alpha,$$

$$(1.4) \quad \Delta_\alpha^n [x^\alpha u_\alpha] = x^\alpha [x E - 1]^n u_\alpha,$$

and

$$(1.5) \quad \Delta_\alpha^n f(\alpha) = \sum_{r=0}^n (-)^{n-r} \binom{n}{r} f(\alpha + r).$$

### 2. Starting with

$$\frac{(-x)^{n+\alpha}}{n! \Gamma(\alpha-x)} \Delta_\alpha^n [(-x)^{-\alpha} \Gamma(\alpha-x)]$$

and using (1.5), we get

$$(2.1) \quad I_n^\alpha(x) = \frac{(-x)^{n+\alpha}}{n! \Gamma(\alpha-x)} \Delta_\alpha^n [(-x)^{-\alpha} \Gamma(\alpha-x)].$$

The use of (1.1), will give

$$(2.2) \quad \Delta_\alpha I_n^\alpha(x) = I_{n-1}^{\alpha+1}(x).$$

Hence by iteration, we have

$$(2.3) \quad \Delta_\alpha^r I_n^\alpha(x) = I_{n-r}^{\alpha+r}(x).$$

3. In this section we shall prove,

$$(3.1) \quad n! \sum_{r=0}^n \frac{(\alpha-x)_r}{r!} I_{n-r}^{\alpha+r}(x) \Delta_\alpha^r$$

$$= \frac{x^n}{\Gamma(\alpha-x)} [1 + x^{-1} E]^n \Gamma(\alpha-x) = \prod_{j=1}^n [(\alpha-x-n+2j+1) E + x].$$

Let

$$(3.2) \quad \Omega_n f(\alpha) = \frac{(-x)^{n+\alpha}}{\Gamma(\alpha-x)} \Delta_\alpha^n [(-x)^\alpha \Gamma(\alpha-x) f(\alpha)].$$

Using (1.3), we have

$$\Omega_n f(\alpha) = \frac{(-x)^{n+\alpha}}{\Gamma(\alpha-x)} \sum_{r=0}^n \binom{n}{r} \Delta_\alpha^{n-r} (-x)^{-\alpha-r} \Gamma(\alpha+r-x) \Delta_\alpha^r f(\alpha),$$

now, with the help of (2.1), we establish

$$(3.3) \quad \Omega_n f(\alpha) = n! \sum_{r=0}^n \frac{(\alpha-x)_r}{r!} I_{n-r}^{\alpha+r}(x) \Delta_\alpha^r f(\alpha).$$

Using (1.4), the equation (3.2) can be put into the following form

$$(3.4) \quad \Omega_n f(\alpha) = \frac{x^n}{\Gamma(\alpha-x)} [1 + x^{-1} E]^n \Gamma(\alpha-x) f(\alpha).$$

Again starting from (3.2), and using (1.3), we have

$$\begin{aligned} \Omega_n f(\alpha) &= \frac{(-x)^{n+\alpha}}{\Gamma(\alpha-x)} [(\alpha-x-1) \Delta \{ \Delta^{n-1} (-x)^{-\alpha} \Gamma(\alpha-x-1) f(\alpha) \} \\ &\quad + n E \{ \Delta^{n-1} (-x)^{-\alpha} \Gamma(\alpha-x-1) f(\alpha) \}] \\ &= \frac{(-x)^{n+\alpha}}{\Gamma(\alpha-x)} [(\alpha-x-1) \Delta + n E] \{ \Delta^{n-1} (-x)^{-\alpha} \Gamma(\alpha-x-1) f(\alpha) \} \\ &= \frac{(-x)^{n+\alpha}}{\Gamma(\alpha-x)} [(\alpha-x-1) \Delta + n E] \cdot \dots \cdot [(\alpha-x-n) \Delta + 1 \cdot E] (-x)^{-\alpha} \Gamma(\alpha-x-n) f(\alpha). \end{aligned}$$

Therefore,

$$(3.5) \quad \Omega_n f(x) = \prod_{j=1}^n [(\alpha - x - n + 2j - 1) E + x] f(x).$$

From (3.3), (3.4) and (3.5) we get the required result (3.1).

#### 4. Recurrence relations

From (2.2), we have

$$(4.1) \quad I_n^\alpha(x) = I_n^{\alpha-1}(x) + I_{n-1}^\alpha(x).$$

Again starting from (2.1), it can be shown that

$$(4.2) \quad (n+1) I_{n+1}^\alpha(x) = (\alpha - x) I_n^{\alpha+1}(x) + x I_n^\alpha(x).$$

For  $f(x) = 1$ , (3.1) will give

$$(4.3) \quad n! I_n^\alpha(x) = \prod_{j=1}^n [(\alpha - x - n + 2j - 1) E + x] 1.$$

Now consider

$$(n+1)! I_{n+1}^\alpha(x) = \prod_{j=1}^{n+1} [(\alpha - x - n + 2j - 2) E + x] 1$$

which after some simplification will give

$$(4.4) \quad (n+1) I_{n+1}^\alpha(x) = (n + \alpha - x) I_n^\alpha(x) + x I_n^{\alpha-1}(x).$$

From (4.1) and (4.4), we derive

$$(4.5) \quad (n+1) I_{n+1}^\alpha(x) = (\alpha + n) I_n^\alpha(x) - x I_{n-1}^\alpha(x),$$

which is (3.2) in [3].

#### 5. Other relations

Repeated application of (4.1) gives

$$(5.1) \quad I_{n-k}^\alpha(x) = \sum_{r=0}^k (-1)^r \binom{k}{r} I_n^{\alpha-r}(x).$$

Again using the famous result

$$f(x + \mu) = \sum_r \binom{\mu}{r} \Delta_\alpha^r f(x),$$

we get

$$(5.2) \quad I_n^{\alpha+\mu}(x) = \sum_{r=0}^n \binom{\mu}{r} I_{n-r}^{\alpha+r}(x).$$

In (4.3) replacing  $n$  by  $n+m$  and applying (3.1) and (2.3), we derive

$$(5.3) \quad \binom{m+n}{m} I_{m+n}^\alpha(x) = \sum_{r=0}^m \frac{(\alpha + n - x)_r}{r!} I_{m-r}^{\alpha+n+r}(x) I_{n-r}^{\alpha+r-m}(x).$$

If we take  $f(x) = \frac{1}{\Gamma(\alpha - x)}$ , then (3.3) and (3.4) will give

$$(5.4) \quad (1+x)^n = \sum_{r=0}^n n! \frac{(-)^r (\alpha - x)_r}{r!} l_{n-r}^{\alpha+r}(x) {}_1F_1 \left[ \begin{matrix} -r; \\ \alpha - x; \end{matrix} 1 \right].$$

Now putting  $f(x) = \frac{x^\alpha}{\Gamma(\alpha + 1)}$ , and applying the famous result [4]

$$L_n^\alpha(x) = (-)^n \frac{\Gamma(\alpha + n + 1)}{n!} x^{-\alpha} \Delta_\alpha^n \left[ \frac{x^\alpha}{\Gamma(\alpha + 1)} \right]$$

we observe that,

$$(5.5) \quad x^n \cdot {}_2F_1 \left[ \begin{matrix} -n, \alpha - x; \\ \alpha + 1; \end{matrix} -1 \right] = \sum_{r=0}^n n! \frac{(-)^r (\alpha - x)_r}{(\alpha + 1)_r} l_{n-r}^{\alpha+r}(x) L_r^\alpha(x).$$

Again putting  $f(x) = x^{-\alpha} \Gamma(1 + \alpha)$  and taking the help of the well known result [2]

$$A_n^\alpha(x) = \frac{(-)^n x^{n+\alpha}}{n! \Gamma(1 + \alpha)} \Delta_\alpha^n [x^{-\alpha} \Gamma(1 + \alpha)],$$

we get

$$(5.6) \quad x^n \cdot {}_3F_0 \left[ \begin{matrix} -n, \alpha - x, 1 + \alpha; \\ -x^{-2} \end{matrix} \right] = \sum_{r=0}^n n! (\alpha - x)_r (-x)^{-r} l_{n-r}^{\alpha+r}(x) A_r^\alpha(x),$$

where  $A_n^\alpha(x)$  is the polynomials defined by Srivastava [6].

I wish to express my grateful thanks to Dr. B. M. Agrawal of Gov. Sci. College, Gwalior, for his kind help during the preparation of this paper.

#### REFERENCES

- [1] Agrawal, B. M., *Operational Formulae for classical polynomials*, Vij. Par. Anu. Pat., 10, (1967), 43—50.
- [2] Agrawal, B. M. and Agrawal, H. C., *An application of the difference operators in the study of some polynomials*, Indian Nat Sci Aca. (to appear).
- [3] Carlitz, L., *On some polynomials of Tricomi*, Boll. U. M. I. (3), 13, (1958), 58—64.
- [4] Erdélyi, A., *Higher Transcendental Functions*, Vol. II, MacGraw-Hill Com., INC. (1953).
- [5] Milne Thompson, *The Calculus of Finite Differences*, London, (1933).
- [6] Srivastava, K. N., *Some polynomials related to the Laguerre polynomials*, Jour. Indian Math. Soc., 28, (1964), 43—50.

Department of Mathematics; Bundel Khand Post-graduate College, Jhansi, U. P., INDIA.